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Surveys show that more and (1) ... young people plan to work a great (2) ... longer
than people did in the past. In fact, the majority expect to continue working beyond the
most typical retirement age of 65. The reasons are that most people’s pension won’t be
worth as much (3) ... it is now and we are living longer now. Some companies are also
looking for more experienced employees because they already understand the needs of
business and they are often better (4) ... their younger colleagues at jobs which require
greater concentration.

Прочитайте текст. Заполните пропуск (1) только одним словом, подходящим
по смыслу. Слово должно содержать не более 15 символов.


